TR 2.

TR 3.

U3 4.

YR 5.

4) Code No. : S-262
feds o= Ut TRIg &) 3dRe G &1 A guie HIfY |

Describe internastructure of a Dicot primary stem with diagram.

OR
e T 8° S e BT quie HIfoTg |
What is periderm? Describe their structure.
Ol & TR &7 quie HIfoTg |

Describe the development of leaf.

OR
SIfee Rl Sad &1 Afs auie By |
Describe complex permanent tissue with diagram.
IS & USRI BT AT aviF BT |
Describe types of ovule with help of diagram.

OR
YOIy & YR Ud YHR BT fRaR | a\sgy |
Explain types and development of Endosperm.
dr51 ugiE R 57 Fesy |
What is seed dormancy? Explain.

OR
Rqo7 1 fafeet fAfert &1 o HISTY T urey Jae= & o™ 9drsy |

Describe method and benefits of vegetative propagation.
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Note : Section'A’, containing 10 very short-ansiygre questions, is compulsory
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - A’
futukfdr viryikjh ¢'uk d mikj ,d ;k nk okD;k e nA
Answerthe following very short-answertype questions in one otwo
sentences. (1x10=10)

TeT 1. T9AT ol 9T 2?7 ISR QT |
What is pneumatophore? Give example.

I 2. AEOIAdT FT 8° SCERU Sdhx AHSgY |
What is symbiotics? Explain with suitable example.

T 3. GeT BIATgH a7 57
What is dendrochronology?

g 4. {9 goiar T 27 ISTERY AR FHesY |

What is Heterophylly? Explain with suitable example.
P.T.O.
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fgfa® dse &1 A8 ol |
Write the importance of secondary nucleus.
fAgsT 3fpRoT 9T B? ISTENT AR TSNSy |
What is vivipary? Explain with example.
wg wWiforar @1 2?
What is herkogamy?

Hel § qgaT HAT 27
What is softening in fruit?

uTRRerfdata srgae &1 aiRFIT SIS |

Define ecological adaptation.

U9 10.bold de T 8°

TR 1.

TR 2.

What is grafting?
Section - 'B'

fuEukfdr y?% mikjh; ¢'uk d mikj 150&200 °Kn Dhek e n
Answer the following shot-answertype questions with word
limit 150-200 (3x5=15)
RIE T H HeME & a9y |
Explain Metamers in shoot system.

OR
Dleve dig o femoft faRey |

Write short note on Insectivorous plants.

T U g ®I FHssy |
ExplainTunica Corpus theory

OR
T & BRIT BT g DI |

Describe function of cambium.
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STol Ufddel IR YTl SIferd |

Throw light on water stress.
OR
ST Sifcel il SAd &I FHEsy |
Explain complet tissue xylem.
ORI Y07 1Y BT AHSE |
Explain Pollen embryo sac.
OR
IR DD AFARAINRG YoT By R fewoll oy |
Write a note on four nucleic monosporic embryo sac.
SRl §RT 151 eIvi R Yehrar STfer |
Throw light on Seed dispersal by animals.
OR
HIABTIT GRT BAD TaeH BT T |
ExplainVegetative propagation by budding.

Section - 'C'

fuEukfdr nh mikjh; c¢"uk di mikj 300&350 *kCn Bhek e ni
Answer the following long-answertype questions with word

limit 300-350 (5x5=25)

A & MR W Uil # fhod UdR @1 fafva o e &7

AT |

How many diversities in plants on the basis of their habitat? Explain.
OR

‘Je I H gedl IR A g SNfad N9 B |* 3H HAA Bl W

BT |

"At present tree is a longest-lived organism on the Earth.” Expalin this
statement.

P.T.O.



